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stat. 250 —~ 23 10 5,9 9,7 | 57
A1(z) 250 | 2 230 ~ 2 10 6 9,7 200
ECC8 6,3 0,435 z —
5| eur Mixer 250 |12 187 | — 45 52 | 23 | 2 (Upoe =3V) | [f=100MHz
300 —100 maximum 151 25| 90
(stat. 100 — 11 45 | 46 | 108 | 50
stat. 170 — 15 10 6,2 8 50
stat. 200 — 21 10 58 83 | 48
PCC 85 eur 89 0,3 A1(Z) 100 | 1,5 92 — 0,85 52 | 52 | 10 160
A1(%) 170 | 1,5 157 — 1,4 87 | 6 8,4 160 f = 100 MHz
A1(%) 170 | 15 161 - 2 6 47 | 105 330 | |
UCC85 | eur 23,526 | 0,1 Mixer 100 | 47 89 — 35 22 | 1,7 | 20 Uyee = 1,8V
Mi 170 | 47 146 — 44 48 | 22 | 16
xer } Upse = 2,8V
Mixer 200 | 82 158 — 48 52 | 2,3 | 15
250 —100 maximum 1 15 | 2,5| 90
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ECC/PCC/UCC 85 | I-Ii triod. 3 l 018 | 1,5 | 004 | 0,003 0,008 0,008 0,008 | 0,003 ‘ 12 | 0008 | 0,003
! \ i ! x
Equivalents
|
B 719 Marc = ECC85 | 6CC 43 Tes = ECC85
ECC805S') Tf = ECC8 | 9AQS8 amer = PCC 85
ECC 865! RFT = ECC85 | 10L 14 Maz = UCC85
6AQ8 amer = ECC85 25AQ8 amer = UCC85

') vide * 4, a, b, ¢ = 10000, f, g (Uf = 63 V £ 5%)
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